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Where he slants his wall — Y9112 DR 9TAR

OVERVIEW

7721 27 explained that there is no concern that the owner of the wall will stand on
his wall and look into the windows (of the other person’s house), since he made the
top of the wall on a slant, no one can stand there. md0in clarifies why there is a
concern in the first place.

mooIN anticipates a difficulty:
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But the X713 could not have answered that since we are discussing a case where
he raised his wall nR '7, so seemingly how can he see inside the widow?!

mooin replies:
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For since the new wall is standing perpendicular to the window, meaning that
the length of the wall is facing the width of the window, therefore he is able to
stand at the edge of the wall and bend down and peer into the windows.?

SUMMARY

A height of N1X "7 cannot ensure that in a perpendicular wall, the owner will not be
able to bend down and look inside, even if the wall is mnX '7 higher than the
windows.

THINKING IT OVER
Why is there a difference, regarding the ability to bend down and peek into the
window,* whether the wall is parallel or perpendicular to the window?’

! The x7n3 asked (on the answer of X2 27), ‘but he can still peer’ into the window; to which 7221 27 answered 722.
2 The xn>"2 clearly states that the new wall must be nX '7 above the window, so how can the X713 ask 'p2¥n X9m'?!
3 See ‘Thinking it over’.

4 See footnote # 3.

5 See mwn noma.

TosfosInEnglish.com



